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AiE#E - B - HrEl BR [#ries ] AiE#E - B - HrEl BR [#ries ]
AiE#E - C - BHiE RS CAris ] AiEE - C - BHiE RS [#ries ]
AiE#E - D - Kig BEA [#ries ] AiE#E - D - Kig BEA [#ries ]
AiE#E - B - Kig WA E:=1 AiE#E - B - Kig WA E:=1
JiAGE 22(21 A K — N 10:20 % 22(21 A A — R 12:05
KA £ E4=1 AZEN KA e E4=1 VAZZAIN
AH—K/T =y v 2RI -1.2°C / 0.0C AH—K/T =y KR -0.5C / 0.8C
F:
JIEAL Ag=} —-p EEEE 1KXH 2AKXH A F L—X
No No K4 B B 4 S T~ A = RO IV
1 203 Wi RE HEE /)N 4 4263 4320 1:25.83
2 201 JVEIR AR IR/ 4 4454 4467 1:29.21
3 205 W A 9D 4 44 .55 4513 1:29.68
4 207 X fEE HEFE /N 4 49.20 49.04 1:38.24
5 204 NS HEFE /N 4 49.47 50.21 1:39.68
6 208 I e HEEE /N 3 53.17 50.26 1:43.43
7202 mH OwE B o I8 4 57.88 56.70 1:54.58
DID NOT START [1st RUN] 1
206 A RE J=a AN 2
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
2016/02/07 / = 2 T 2 r5— 27 i /g BT G8/ 1
DATA PROCESSING by SE I KO TIMING by SE I KO

XTI T IN—4 2R
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DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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AiEE - A - &F FWi El HIEE - A - &+ Fip Esl
AiE#E - B - HrEl BR [#ries ] AiE#E - B - HrEl BR [#ries ]
AiE#E - C - BHiE RS CAris ] AiEE - C - BHiE RS [#ries ]
AiE#E - D - Kig BEA CAris ] AiE#E - D - Kig BEA [#ries ]
AiE#E - B - Kig WA E:=1 AiE#E - B - Kig WA E:=1
JiAGE 22(21 A K — N 10:20 % 22(21 A A — R 12:05
KA e E4=1 AZEN KA e E4=1 VAZZAIN
AH—K/T =y v 2RI -1.2°C / 0.0C AH—K/T =y KR -0.5C / 0.8C
F:
JIEAL Ag=} —-p EEEE 1KXH 2AKXH A F L—X
No No K4 B B 4 S T~ A = RO IV
1 210 e OHEX BB/ 5 42.34 43.04 1:25.38
2 209 WHE 130 = N 5 48.74 49.29 1:38.03
3 211 MR HE B RN 5 51.56 51.90 1:43.46
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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AiEE - A - &F FWi El AiEE - A - &1 Fuip Esl
AiE#E - B - FrA Bk El AiE#E - B - Frdl Bk Esl
AiE#E - C - HiR ff5 [#ries ] AiEE - C - HiR ffE [#ries ]
AiE#E - D - Kig BEA [#ries ] AiE#E - D - Kig BEA [#ries ]
AiE#E - B - Kig WA E:=1 AiE#E - B - Kig WA E:=1
JiAGE 22(21 A K — N 10:20 % 22(21 A A — R 12:05
KA £ E4=1 VAZEN KA £ E4=1 VAZZAIN
AH—K/T =y v 2RI -1.2°C / 0.0C AH—K/T =y KR -0.5C / 0.8C
F:
JIEAL Ag=} - BEE 1KXH 2AKXH A F L—X
No No K4 B 4 1 T 13 I L 13 N IV
1 213 Al A& 9D 6 4456 4440 1:28.96
2 214 SR R LR /)N 6 4954 4894 1:38.48
3 212 S ) HEE /N 6 51.61 50.52 1:42.13
4 215 g SRR LR /)N 6 1:10.46 1:05.14 2:15.60
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
2016/02/07 / = 2 T 2 r5— 27 i /g BT G8/ 1

DATA PROCESSING by SE I KO

XTI T IN—4 2R
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No No K4 BT B 4 1 L I~ I~ L I VR
DISQUALIFIED [2nd RUN] 0
% Mo EE E:REN
2016/02/07 / = 2 T 2 r5— 27 i /g BT G8/ 2
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T 4=y a s 572m
B EER Ao IEB E:=1 o 128m
1AH - 2AH -
I—RE oy H— A s El a— 2ty X — Frdl samk El
AiEE - A - &F FWi El HIEE - A - &1 Fuip Esl
AiE#E - B - HrEl BR [#ries ] AiE#E - B - HrEl BR [#ries ]
AiE#E - C - BHiE RS El AiEE - C - BHiE RS E:l
AiE#E - D - Kig BEA [#ries ] AiE#E - D - Kig BEA [#ries ]
AiE#E - B - K& A E:=1 AiE#E - B - K& A E:=1
% 22(21) A A — R 10:20 HEFR %R 22(21) A A — R 12:05
KA £ E4=1 AZEN KA £ E4=1 VAZZAIN
AH—K/T =y v 2RI -1.2°C / 0.0C AH—K/T =y KR -0.5C / 0.8C
F:
JIENr Ap=b =b B 1A 2AKBH A F L—2=x
No No K4 B B 4 BE R M H%% M ANA b
1 218 BH @ 50N 4 47.98 48.23 1:36.21
2 216 W S B A IR 4 47.60 48.75 1:36.35
3 217 K BE HEE /N 4 56.89 57.27 1:54.16
4 221 PR JRIK o IR/ 2 1:01.91 1:04.70 2:06.61
5 223 B K HEEG /)N 3 1:21.88 1:13.18 2:35.06
6 222 B FAK HERE /N 4 1:18.98 1:16.48 2:35.46
DID NOT START [1st RUN] 1
220 R JE3E HERE /N 4
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2016/02/07 / ~ v T v 75— 7 HEFG /EEFE AT G8/ 1
DATA PROCESSING by SE I KO TIMING by SE I KO
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DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 1
219 wmH &% 5B/ 3 GATE No. 18 , i@ i@iE
T35 Mo EE LR ]
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AiEE - A - &F FWi El HIEE - A - &+ Fip Esl
AiE#E - B - HrEl BR [#ries ] AiE#E - B - HrEl BR [#ries ]
AiE#E - C - BHiE RS DT ] AiEE - C - BHiE RS E:l
AiE#E - D - Kig BEA CAris ] AiE#E - D - Kig BEA [#ries ]
AiE#E - B - K& A E:=1 AiE#E - B - K& A E:=1
% 22(21) A A — R 10:20 HEFR %R 22(21) A A — R 12:05
KA e EY AZEN KA e E4=1 VAZZAIN
AH—K/T =y v 2RI -1.2°C / 0.0C AH—K/T =y KR -0.5C / 0.8C
F:
JIENr Ap=b =b B 1A 2AKBH A F L—2=x
No No K4 B B 4 FEOR R OB H%% M ANA b
1 226 E FR B o W5/ 5 37.13 37.62 1:14.75
2 224 BH % =N 5 47.01 4760 1:34.61
3 230 e &A RN 5 50.40 50.48 1:40.88
4 298 B K RN 5 57.19 55.90 1:53.09
5 227 L R 3N 5 54.49 1:29.96 2:24.45
DID NOT START [1st RUN] 2
225 G REEAR HERE /N 5
229 X £} RN 5
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2016/02/07 / ~ v T v 75— 7 HEFG /EEFE AT G8/ 1
DATA PROCESSING by SE I KO TIMING by SE T KO

XTI T IN—4 2R
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DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
% Mo EE E:REN
2016/02/07 / = 2 T 2 r5— 27 i /g BT G8/ 2
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1AH - 2AH -
I—RE oy H— A s El a— 2ty X — Frdl samk El
AiEE - A - &F FWi El HIEE - A - &1 Fuip Esl
AiE#E - B - HrEl BR [#ries ] AiE#E - B - HrEl BR [#ries ]
AiE#E - C - BHiE RS DT ] AiEE - C - BHiE RS E:l
AiE#E - D - Kig BEA [#ries ] AiE#E - D - Kig BEA [#ries ]
AiE#E - B - K& A E:=1 AiE#E - B - K& A E:=1
% 22(21) A A — R 10:20 HEFR %R 22(21) A A — R 12:05
KA £ E4=1 AZEN KA e E4=1 VAZZAIN
AH—K/T =y v 2RI -1.2°C / 0.0C AH—K/T =y KR -0.5C / 0.8C
F:
JIENr Ap=b =b B 1A 2AKBH A F L—2=x
No No K4 B B 4 BE R M H%% il ARA b
1 233 IR B SR/ 6 4917  49.30 1:38.47
2 232 W A= AN 6 51.27 50.08 1:41.35
3 235 PHE AR HERE /N 6 54.59 57.15 1:51.74
4 236 WA & BB/ 6 54.23 1:00.98 1:55.21
5 234 e N B o I 7)N 6 52.63 1:39.91 2:32.54
6 231 A HEFE /)N 6 4511 2:51.11 3:36.22
7 237 HE O OEA HEFE /N 6 2:36.02 2:04.59 4:40.61
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2016/02/07 / ~ v T v 75— 7 HEFG /EEFE AT G8/ 1
DATA PROCESSING by SE I KO TIMING by SE I KO
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No No K4 BT B 4 1 L I~ I~ L I VR
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
% Mo EE E:REN
2016/02/07 / = 2 T 2 r5— 27 i /g BT G8/ 2
DATA PROCESSING by SE I KO TIMING by SE I KO
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AiEE - A - &F FWi El AiE#E - A - &1 Fuip Esl
AiE#E - B - HrEl BR El AiE#E - B - HrEl BR Esl
AiE#E - C - HiR ff5 [#ries ] AiEE - C - BHiE RS [#ries ]
AiE#E - D - Kig BEA [#ries ] AiE#E - D - Kig BEA [#ries ]
AiE#E - B - Kig WA E:=1 AiE#E - B - Kig WA E:=1
JiAGE 22(21 A K — N 10:20 % 22(21 A A — R 12:05
KA £ E4=1 AZEN KA £ E4=1 VAZZAIN
AH—K/T =y v 2RI -1.2°C / 0.0C AH—K/T =y KR -0.5C / 0.8C
F:
JIEAL Ag=} —-p EEEE 1KXH 2AKXH A F L—X
No No K4 B B 4 S T~ A = RO IV
1 238 TR MER HERF P 1 4322 1:28.75 2:11.97
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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AiEHE - C - HiR ff5 El AiEE - C - HiR ffE BT ]
AiEH - D - K& BEA El AiE#E - D - K& BEA BT ]
AiE#H - E - K& A E:=1 AiE#E - B - K& A CHTE ]
% 22(21) A A — R 10:20 HEFR %R 22(21) A A — R 12:05
KA £ E4=1 VAZEN KA £ E4=1 VAZEN
AH—K/T =y v 2RI -1.2°C / 0.0C AH—K/T =y KR -0.5C / 0.8C
F:
JEQE Ap—=b - BEE 1A 2AKBH A F L—2=x
No No K4 B 4 mEOR] MR R H%% M ARA b
1 9243 NG ER g 2 34.32 34.27 1:08.59
2 242 A HEGT HERF P 2 36.61 3590 1:12.51
3 240 a1 KA AR R 1 39.60 38.57 1:18.17
DID NOT START [1st RUN] 2
239 NS AR 2
241 G MEEAER AL 1
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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